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L3t g2 +9d 76,501 72,839 3,662
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1.3t 5F0 & 900 900 0
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2. (%] 2F2EHEEN 800 500 300
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1.9 100 100 0
5.4 gy 31,399 28,669 2,730
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1.9 Rk8-] 5,740 5,740 0
2. 953 1,060 1,060 0
3. 0889 11,041 11,041 0
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1.3 B 1) 1,400 1,400 0
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LR 1A B3s B3 34 95,092 6,092 0
1.95% 4,320 4,320 0
2. 05| 1,772 1,772 0
2. [FlfrA gty S & 240 240 0
L7174 4170 240 240 0
2. 5X&%F 8,920 3,920 5,000
1.5A485849 8,920 3,920 5,000
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2. [=]=ATED 500 500 0
1. dnkpgn) 200 200 0
2. W 5&qH| 300 300 0
3. [x1EA eS8 920 920 0
1. =/ 920 920 0
3.71ef A8 usds 4,000 4,000 0
1. oHEst &8 4,000 4,000 0
LlztHestu ST 2 a8 4,000 4,000 0
1.&959 640 640 0
2. 05| 2,390 2,390 0
3.3 = A n| 770 770 0
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1.aFg 49 3,048 2,948 100
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3.5x9d & 4,324 4,324 0
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3. HFETYH| 3,000 3,000 0
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LA 71 339 20,667 22,069 -1,402
1.[Z]agA e | 5,710 5,710 0
1. Rk F- 310 2,710 2,710 0
2. AT AT AN 3,000 3,000 0
2. (]9 10,827 12,229 -1,402
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1. g RkE8H 3,380 3,380 0
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2. HARALANEESD 18,810 14,170 4,640
LAY 2383 2 AATHF2,620 2,620 0
1347188 1,900 1,900 0
2718 g e e 720 720 0
2. [F1HALED 16,190 11,550 4,640
1. el gn] 4,900 3,980 920 ;i%&s@%’—ﬁw%%ﬂ] © 920,000 %1 920,000
2. 980 1,500 1,500 0
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5. 1] F- 1] 8,620 4,900 3,720 ig;%ﬁ_s@%ﬁw%%l + 1,860,0004 3,720,000
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125 €)-14,300,0009) =
2. Asrra 1,680 1,680 0
3.718FE T 4,864 4,864 0
2. [ NG HT LS 18,297 15,517 2,780
(B -A_3F)E=H] ¢ (7,429,0009+13L)
1.94k=8n 18,297 15,517 2,780 e 2,780,000
SRR - 4,649,0009 =
3. [N LR 17,600 15,450 2,150
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4[]8 e 1,008 1,008 0
1. 99k=4n) 1,008 1,008 0
5.[%]1332 g 3,978 3,978 0
1. 9Hk=4n) 3,978 3,978 0
3.8t Y 1,900 1,900 0
1.3 0299 932 700 700 0
1.[Z]stud 9439 700 700 0
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1. ojlu]H] 0 0 0
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